
DRAWN
APPROVED

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN MILLIMETERS
0PL ±0.5 1 PL ±0.25 2 PL ±0.125

NAME DATE
05/06/14

TITLE

DWG NO:

   JCH
   BPG

HOPE SAFE-T-BAR STRAIGHT PROTECTION
KIT  - FORD TRANSIT 2014 >

HIGH STREET ASCOT BERKSHIRE SL5 7HP    TEL 01344 624855   FAX 01344 626237

TECHNICAL DEVELOPMENTS LIMITED

USED ON:

Copyright 2014

LVB-3900

ISSUE DESCRIPTION DATE

DRG No:

0 NEW DRAWING 05/06/14

LVB-3900

05/06/14

5

1

9

17

19

7

11

12

8

12

13

15
16

14

18
12

11

6

10

2

3

4

Item
Number

Part No Description Quantity

1 LVB-3905 STRAIGHT PROTECTION BEAM 1

2 LVB-3901L TRANSIT 2014 PROT BRKT
LH

1

3 LVB-3901R TRANSIT 2014 PROT BRKT
RH

1

4 LVB-3942 ANGLE BRACKET 2

5 LVB-3903L INFILL WING LH 1

6 LVB-3903R INFILL WING RH 1

7 LVB-3823 TRANSIT/ TRANSIT CUSTOM
SPACER PLATE

2

8 P-150/24 M12 X 100 HEX HD BOLT 8

9 P-150/5 M12 X 40 HEX HD SET
SCREW

4

10 P-172/75 M12 X 40 THREAD ROLLING
BOLT

4

11 P-154/8 M12 NYLOC NUT 8

12 P-151/18 M12 PLAIN WASHER 20

13 P-152/17 M12 SPRING WASHER 4

14 P-150/63 M10 X 30 HEX HD SET
SCREW

4

15 P-151/17 M10 PLAIN WASHER 4

16 P-152/16 M10 SPRING WASHER 4

17 P-172/26 M6 X 12 HEX HD FLANGE
SET SCREW

4

18 FORD FACTORY BUMPER
BRACKET

1

19 FORD FACTORY TOWING EYE 1

1 BRACKET CHANGE 17/08/14


